
SLOVESO “ TO BE“  - PROCVIČOVÁNÍ 

 

1/  Nahraď vytučněné výrazy osobními zájmeny: I, she, he, we, They. Věty          

přepiš na volný řádek. 

Alice  (………….)  is wearing a raincoat today.  

………………………………………………………………………………………………….. 

Tom  ( …………)  is wearing a cap and a jacket .  

………………………………………………………………………………………………….. 

……………  am wearing a t-shirt. 

………………………………………………………………………………………………….. 

Peter and John  (………………)  are wearing a suit.  

………………………………………………………………………………………………….. 

Susan and I ( ………..)  are wearing a T-shirt.  

………………………………………………………………………………………................. 

Jack and Jill  ( ……….)  are wearing sandals. 

………………………………………………………………………………………………….. 

Paul and I ( …………)  are wearing a hat. 

………………………………………………………………………………………………… 

 

2/ K dané osobě dopiš správný tvar slovesa „TO BE“ a pod něj napiš český 

překlad: 

I …….  He  …….  She  …….  We  ……..  They …… 

……… …………..  ……………  ……………  …………… 

We  .…. I ………..  They …….  She ………  We ……… 

……….. …………..  ……………  …………….  …………… 
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3/ V textu podtrhni tvary slovesa „Být“: 

She is at home. They are in the garden. I am twelve. You are very clever. He is 

happy. It is a small dog. They are wearing jeans. We are from Mor. Budějovice. I am 

very sad today. You are very tall. He is at the ZOO. We are in the park.  

4/ Text ze cvičení 3/ přepiš v záporu.  

Př: She is not at home. 

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

………………………………………………………………………………………………… 

5/ Ústně text ze cvičení 3/ přelož. 

6/ Namaluj sebe i kamaráda a napiš co máte společné: 

 

 

Př: We are wearing shoes. We are friends. We are from  ….. 

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………........................................... 


